

Lecture 4 final range projection (corrected mistakes in my previous report.)

Consider H, H_0, E and $W_{\pm}(H, H_0, E)$ and set $F := W_{\pm} W_{\pm}^*$

① $F e^{-itH} = e^{-itH} F$

② $W_{\pm}(H_0, H, F)$ exist, and $W_{\pm}(H_0, H, F) = W_{\pm}(H, H_0, E)^*$

proof

$$\begin{aligned} \textcircled{1} W^* e^{-itH} &= W^* (e^{itH})^* = (e^{itH} W)^* \\ &= (W e^{itH_0})^* \quad (\because \text{intertwining property}) \\ &= e^{-itH_0} W^* \end{aligned}$$

$$\begin{aligned} \therefore F e^{-itH} &= W_{\pm} W_{\pm}^* e^{-itH} = W_{\pm} e^{-itH_0} W_{\pm}^* \\ &= e^{-itH} W_{\pm} W_{\pm}^* \quad \square \end{aligned}$$

② For all $g \in FH$, there exists $f \in EH$ such that $g = W_{\pm} f$.

Then

$$0 = \lim_{t \rightarrow \pm\infty} \| e^{itH} e^{-itH_0} f - g \|$$

$$= \lim_{t \rightarrow \pm\infty} \| f - e^{itH_0} e^{-itH} g \|$$

 \Rightarrow $s\text{-}\lim_{t \rightarrow \pm\infty} e^{itH_0} e^{-itH} g$ exists for all $g \in FH$
 \Rightarrow $s\text{-}\lim_{t \rightarrow \pm\infty} e^{itH_0} e^{-itH} F = W(H_0, H, F)$ exists

$$s\text{-}\lim_{t \rightarrow \pm\infty} e^{itH_0} e^{-itH} F = s\text{-}\lim_{t \rightarrow \pm\infty} e^{itH_0} e^{-itH} W_{\pm}(H, H_0, E) W_{\pm}(H, H_0, E)^*$$

$$= s\text{-}\lim_{t \rightarrow \pm\infty} e^{itH_0} e^{-itH} e^{itH} e^{-itH_0} E W_{\pm}(H, H_0, E)^*$$

$$= s\text{-}\lim_{t \rightarrow \pm\infty} E (W_{\pm}(H, H_0, E))^*$$

$$= s\text{-}\lim_{t \rightarrow \pm\infty} (W_{\pm}(H, H_0, E) E)^* \quad (\because E^* = E)$$

$$= s\text{-}\lim_{t \rightarrow \pm\infty} (e^{itH} e^{-itH_0} E^2)^*$$

$$= s\text{-}\lim_{t \rightarrow \pm\infty} (e^{itH} e^{-itH_0} E)^* \quad (\because E^2 = E)$$

$$= W_{\pm}^*(H, H_0, E) \quad \square$$